		Project Name: BLUEPRINT SCHREYER / SPRINGS INTEGRATED SOLUTIONS PROJECT	CIP # 650870-100006		ENGINEER'S	ESTIMATE	F/	ACEMYER COMPAN	Y	ELIT	E EXCAVATING OF	OHIO
		P.M.: Fang Cheng	Bid Opening: 08/24/2016					rice (\$)	Contractor Price (\$)			
Ref. No.	Item Number	Description	Estimated Quantities	Unit	Total Sum of Material and Labor	Total Cost in (\$) Figures	Price of Materials	Price of Labor	Total Cost in (\$) Figures	Price of Materials	Price of Labor	Total Cost in (\$) Figures
1	202	Pavement Removed	2,447	SY	\$25.00	\$ 61,175.00	\$0.00	\$21.30	\$ 52,121.10	\$3.00	\$2.00	\$ 12,235.00
2	202	Curb & Gutter Removed	845	LF	\$7.00	\$ 5,915.00	\$0.00	\$4.80	\$ 4,056.00	\$7.00	\$5.00	\$ 10,140.00
3	202	Inlet Removed	7	EA	\$500.00	\$ 3,500.00	\$0.00	\$168.00	\$ 1,176.00	\$360.00	\$240.00	\$ 4,200.00
4	202	Waterline Removed	1,567	LF	\$2.00	\$ 3,134.00	\$0.00	\$20.50	\$ 32,123.50	\$12.00 \$60.00	\$8.00 \$40.00	\$ 31,340.00
5 6	204	Proof Rolling Construction Seeding and Mulching	5,539	HR SY	\$250.00 \$1.50	\$ 2,000.00	\$0.00	\$180.00	\$ 1,440.00	\$0.60	\$0.40	\$ 800.00
7	207	Perimeter Filter Fabric Fence	12,488	LF	\$3.00	\$ 8,308.33	\$0.20 \$0.50	\$0.40 \$1.40	\$ 3,323.33 \$ 23,727.20	\$1.00	\$1.00	\$ 5,538.89
8	207	Inlet Protection	26	EA	\$150.00	\$ 37,464.00 \$ 3,900.00	\$65.00	\$63.00	\$ 23,727.20	\$90.00	\$60.00	\$ 24,976.00 \$ 3,900.00
9	254	Pavement Planing, 1-1/2" Asphalt Concrete	5,265	SY	\$6.00	\$ 31,590.00	\$0.00	\$7.60	\$ 40,014.00	\$2.00	\$2.00	\$ 21,060.00
10	259	Driveway Pavement Replacement, Type IIIA	64	CY	\$350.00	\$ 22,400.00	\$300.00	\$155.00	\$ 29,120.00	\$180.00	\$120.00	\$ 19,200.00
11	259	Driveway Pavement Replacement, Type IIIB	92	CY	\$500.00	\$ 46,000.00	\$200.00	\$212.00	\$ 37,904.00	\$300.00	\$200.00	\$ 46,000.00
12	301	Asphalt Concrete Base	363	CY	\$180.00	\$ 65,340.00	\$150.00	\$123.00	\$ 99,099.00	\$180.00	\$120.00	\$ 108,900.00
13	407	Tack Coat	427	GAL	\$5.00	\$ 2,135.00	\$0.70	\$2.10	\$ 1,195.60	\$2.00 \$15.00	\$1.00 \$10.00	\$ 1,281.00
14	423	Crack Sealing, Type 1 Asphalt Concrete Intermediate Course	187	GAL	\$25.00	\$ 4,675.00	\$4.00	\$1.70	\$ 1,065.90	\$181.00	\$121.00	\$ 4,675.00
15	448	(Medium Traffic) PG64-22 (Bio Basin)	151	CY	\$200.00	\$ 30,160.00	\$160.00	\$127.00	\$ 43,279.60			\$ 45,541.60
16	448	Asphalt Concrete Surface Course (Medium Traffic) PG64-22 (Bio Basin)	225	CY	\$200.00	\$ 45,000.00	\$140.00	\$159.00	\$ 67,275.00	\$168.00	\$112.00	\$ 63,000.00
17	604	Manhole Type "C" AA-S102	24	EA	\$3,500.00	\$ 84,000.00	\$900.00	\$2,140.00	\$ 72,960.00	\$2,400.00	\$1,600.00	\$ 96,000.00
18	604	Curb & Gutter Inlet (AA-S125B) with Bike Safe Grates	7	EA	\$400.00	\$ 2,800.00	\$1,700.00	\$2,400.00	\$ 28,700.00	\$3,000.00	\$2,000.00	\$ 35,000.00
19	605	8" Pipe Underdrain	2,302	LF	\$10.00	\$ 23,020.00	\$3.00	\$11.50	\$ 33,379.00	\$22.00 \$7.00	\$15.00 \$5.00	\$ 85,174.00
20	608	Concrete Walk (4") Combination Curb & Gutter, Type Standard	196 845	SF LF	\$10.00 \$50.00	\$ 1,960.00	\$4.00	\$3.90	\$ 1,548.40	\$33.00	\$22.00	\$ 2,352.00
22	609	Combination Curb & Gutter, Type Standard (Contingency)	423	LF	\$50.00	\$ 42,250.00 \$ 21,150.00	\$10.00 \$10.00	\$29.50 \$29.50	\$ 33,377.50 \$ 16,708.50	\$33.00	\$22.00	\$ 46,475.00 \$ 23,265.00
23	614	Maintaining Traffic	1	LS	\$25,000.00	\$ 25,000.00	\$2,500.00	\$37,500.00	\$ 40,000.00	\$30,000.00	\$20,000.00	\$ 50,000.00
24	615	Temporary Pavement (Drive)	313	SY	\$5.00	\$ 1,565.00	\$12.00	\$14.00	\$ 8,138.00	\$3.00	\$2.00	\$ 1,565.00
25	615	Temporary Pavement (Street)	2,134	SY	\$5.00	\$ 10,670.00	\$12.00	\$3.00	\$ 32,010.00	\$7.00	\$5.00	\$ 25,608.00
26	616	Water	5	MGAL	\$100.00	\$ 500.00	\$20.00	\$99.00	\$ 595.00	\$30.00	\$20.00	\$ 250.00
27	616	Calcium Chloride	1	TON	\$250.00	\$ 250.00	\$150.00	\$1,350.00	\$ 1,500.00	\$480.00	\$320.00	\$ 800.00
28	623	Construction Layout Stakes	1	LS	\$25,000.00	\$ 25,000.00	\$0.00	\$25,000.00	\$ 25,000.00	\$15,000.00 \$60,000.00	\$10,000.00 \$40,000.00	\$ 25,000.00
29 30	624	Mobilization Topsoil Furnished and Placed	55	LS CY	\$40,000.00 \$40.00	\$ 40,000.00	\$0.00	\$100,000.00	\$ 100,000.00	\$45.00	\$30.00	\$ 100,000.00
31	659	Seeding & Mulching, Class 1	5,539	SY	\$3.00	\$ 2,200.00 \$ 16,616.67	\$32.00 \$0.25	\$19.30 \$1.43	\$ 2,821.50 \$ 9,305.33	\$2.00	\$2.00	\$ 4,125.00 \$ 22,155.56
32	659	Commercial Fertilizer	1	TON	\$500.00	\$ 500.00	\$500.00	\$1,310.00	\$ 1,810.00	\$720.00	\$480.00	\$ 1,200.00
33	659	Water	14.96	MGAL	\$100.00	\$ 1,496.00	\$35.00	\$85.00	\$ 1,795.20	\$30.00	\$20.00	\$ 748.00
34	801	Concrete Blocking, Class C, Increase or Decrease	20	CY	\$75.00	\$ 1,500.00	\$120.00	\$100.00	\$ 4,400.00	\$120.00	\$80.00	\$ 4,000.00
35	801	Ductile Iron Fittings, Increase or Decrease	400	LBS	\$2.50	\$ 1,000.00	\$2.00	\$0.60	\$ 1,040.00	\$1.00	\$1.00	\$ 800.00
36	801	6" Ductile Iron Pipe and Fittings, Class 52	65	LF	\$95.00	\$ 6,175.00	\$14.00	\$19.50	\$ 2,177.50	\$60.00 \$60.00	\$40.00 \$40.00	\$ 6,500.00
37	801 802	8" Ductile Iron Pipe and Fittings, Class 52	3,239 7	LF	\$105.00 \$1,000.00	\$ 340,095.00	\$40.00	\$58.40	\$ 318,717.60	\$900.00	\$600.00	\$ 323,900.00
38	802	6-Inch Valve and Appurtenances 8-Inch Valve and Appurtenances	2	EA EA	\$1,000.00	\$ 7,000.00	\$1,000.00	\$900.00	\$ 13,300.00	\$1,080.00	\$720.00	\$ 10,500.00
40	805	3/4-Inch Water Service Tap, Transferred (Long)	21	EA	\$1,500.00	\$ 3,000.00 \$ 31,500.00	\$1,300.00 \$350.00	\$1,030.00 \$1,350.00	\$ 4,660.00 \$ 35,700.00	\$1,140.00	\$760.00	\$ 3,600.00 \$ 39,900.00
41	805	3/4-Inch Water Service Tap, Transferred (Short)	32	EA	\$1,000.00	\$ 32,000.00	\$270.00	\$1,090.00	\$ 43,520.00	\$960.00	\$640.00	\$ 51,200.00
42	805	1-Inch Water Service Tap, Transferred (Long)	3	EA	\$2,000.00	\$ 6,000.00	\$470.00	\$1,940.00	\$ 7,230.00	\$1,140.00	\$760.00	\$ 5,700.00
43	805	1-Inch Water Service Tap, Transferred (Short)	3	EA	\$1,500.00	\$ 4,500.00	\$400.00	\$1,110.00	\$ 4,530.00	\$960.00 \$1,500.00	\$640.00 \$1,000.00	\$ 4,800.00
44 45	805 805	1-1/2-Inch Water Service Tap, Transferred (Long) 1-1/2-Inch Water Service Tap, Transferred (Short)	3	EA EA	\$3,000.00 \$2,000.00	\$ 9,000.00	\$910.00	\$2,110.00	\$ 9,060.00	\$1,260.00	\$840.00	\$ 7,500.00
46	808	Relocate 8" Water Line (Lowering)	2	EA	\$5,000.00	\$ 6,000.00 \$ 10,000.00	\$900.00 \$3,000.00	\$2,130.00 \$6,890.00	\$ 9,090.00 \$ 19,780.00	\$3,000.00	\$2,000.00	\$ 6,300.00 \$ 10,000.00
47	809	Type "A" Fire Hydrant	6	EA	\$3,000.00	\$ 18,000.00	\$1,750.00	\$2,310.00	\$ 24,360.00	\$1,800.00	\$1,200.00	\$ 18,000.00
48	809	Type "B" Fire Hydrant	1	EA	\$4,500.00	\$ 4,500.00	\$2,010.00	\$2,410.00	\$ 4,420.00	\$1,800.00	\$1,200.00	\$ 3,000.00
49	811	Increase or Decrease in Excavation and Backfill	200	CY	\$60.00	\$ 12,000.00	\$20.00	\$30.00	\$ 10,000.00	\$15.00	\$10.00	\$ 5,000.00
50	816	3/4-inch Water Service Tap Relocated	8	EA	\$1,000.00	\$ 8,000.00	\$330.00	\$1,580.00	\$ 15,280.00	\$1,200.00	\$800.00	\$ 16,000.00
51	816	3/4-inch Water Service Tap Relocated (Lowering)	16	EA	\$800.00	\$ 12,800.00	\$265.00	\$1,405.00	\$ 26,720.00	\$600.00 \$50.00	\$400.00 \$34.00	\$ 16,000.00
52 53	901 901	8" Underdrain, with Type 1 Bedding	144 2,840	LF LF	\$35.00 \$35.00	\$ 5,040.00	\$8.50	\$11.90	\$ 2,937.60	\$32.00	\$22.00	\$ 12,096.00
		8" Solid Connector Pipe, with Type 1 Bedding 8" Solid Connector Pipe, with Type 1 Bedding, Installed Via				\$ 99,400.00	\$12.00	\$31.30	\$ 122,972.00	\$38.00	\$25.00	\$ 153,360.00
54 55	901	Trenchless Method 12" Storm Sewer Pipe, with Type 1 Bedding	557 25	LF LF	\$90.00 \$90.00	\$ 50,130.00 \$ 2,250.00	\$12.00 \$18.00	\$77.30 \$68.60	\$ 49,740.10 \$ 2,165.00	\$96.00	\$64.00	\$ 35,091.00 \$ 4,000.00
56	901	15" Storm Sewer Pipe, with Type 1 Bedding	21	LF	\$110.00	\$ 2,310.00	\$24.00	\$78.00	\$ 2,142.00	\$108.00	\$72.00	\$ 3,780.00
57 58	902 906	Increased or Decreased Earth Excavation Stone Foundation	200 200	CY CY	\$50.00 \$50.00	\$ 10,000.00 \$ 10,000.00	\$31.00 \$30.00	\$40.90 \$46.30	\$ 14,380.00 \$ 15,260.00	\$6.00 \$6.00	\$4.00 \$4.00	
59	915	Clean-Out	68	EA	\$50.00	\$ 3,400.00	\$200.00 \$0.00	\$490.00	\$ 46,920.00	\$240.00	\$160.00	\$ 27,200.00
60 61	1602 1603	Excavation (for Bio Basins) Tree Protection Fencing	3,007 2,223	CY LF	\$15.00 \$1.50	\$ 45,105.00 \$ 3,334.50	\$0.50	\$39.50 \$1.40	\$ 118,776.50 \$ 4,223.70	\$9.00 \$2.00	\$6.00 \$1.00	\$ 6,669.00
62 63	1604 1604	Bioretention Soil Edging, PVC/Steel	40,385 11,480	CF LF	\$1.50 \$2.00	\$ 60,577.50 \$ 22,960.00	\$2.00 \$3.50	\$0.40 \$2.75	\$ 96,924.00 \$ 71,750.00	\$2.00 \$4.00	\$1.00 \$2.00	\$ 121,155.00 \$ 68,880.00
64	1604	Bioretention Mulch	168	CF	\$75.00	\$ 12,600.00	\$1.00	\$2.85	\$ 646.80	\$5.00	\$3.00	\$ 1,344.00
65 66	Special Special	Water Level Control Structure Junction Box	68	EA EA	\$1,500.00 \$5,000.00	\$ 102,000.00 \$ 10,000.00	\$850.00 \$1,800.00	\$490.00 \$2,500.00	\$ 91,120.00 \$ 8,600.00	\$780.00 \$7,200.00	\$520.00 \$4,800.00	\$ 88,400.00 \$ 24,000.00
67	Special	Bio Basin Inlet	68	EA	\$1,500.00	\$ 102,000.00	\$1,000.00	\$2,380.00	\$ 229,840.00	\$2,700.00	\$1,800.00	\$ 306,000.00

THE P	IDDER'S T	TOTAL ABOVE IS HIS TOTAL BID BASED LIPON HIS LINIT PRIC	CES AND LUMP SUM												
84		GRAND TOTAL: Base Bid with + Contengency				\$	2,348,838.00			\$	3,080,064.92			\$	3,332,041.25
83		CONTINGENCY - Special - Force Account (.20 x Sum of Items 1 through 81)				\$	391,473.00			\$	513,344.15			s	555,340.21
82		Base Bid Subtotal				\$	1,957,365.00			\$	2,566,720.77			\$	2,776,701.04
81	SS1609	GI Period of Establishemnt Season 2	1	LS	\$40,000.00	\$	40,000.00	\$0.00	\$64,980.00	\$	64,980.00	\$90,000.00	\$60,000.00	\$	150,000.00
80	Spec.	GI Monitoring Station Manhole, Allowance	2	EA	\$5,000.00	\$	10,000.00	\$0.00	\$5,000.00	\$	10,000.00	\$0.00	\$5,000.00	\$	10,000.00
79	Special	Survey Coordinates	1	LS	\$15,000.00	\$	15,000.00	\$0.00	\$7,280.00	\$	7,280.00	\$3,000.00	\$2,000.00	\$	5,000.00
78	Special	Sand Bags @ Bio Basin Inlet	68	EA	\$25.00	\$	1,700.00	\$4.00	\$37.30	\$	2,808.40	\$75.00	\$50.00	\$	8,500.00
77	Special	Stone Mulch	36	CY	\$50.00	\$	1,800.00	\$26.00	\$95.00	\$	4,356.00	\$189.00			11,340.00
76	Special	Small-Headed Blazing Star	863	EA	\$20.00	S	17,260.00	\$5.00	\$7.75	S	11,003.25	\$7.00		+	10,356.00
75	Special	Blue Ice Amsonia	1,003	EA	\$20.00	\$	20,060.00	\$5.00	\$7.75	3	12,788.25	\$7.00			12,036.00
74	Special	Creeping Lily Turf	968	EA	\$20.00	\$	19,360,00	\$5.00	\$7.75	3	12.342.00	\$7.00	\$5.00	-	11,616.00
73	Special	Fountain Grass	1.710	EA	\$20.00	\$	22,800.00 34,200.00	\$44.00 \$5.00	\$71.00	3	65,550.00 21,802.50	\$8.00	\$6.00	\$	91,200.00 23,940.00
72	Special	Planters	570	EA	\$40.00			\$44.00	\$71.00	9		\$96.00	\$64.00	9	
71	Special	#57 Stone Filter for Bio Basin Per Item 703	579	CY	\$40.00	\$	23,160.00	\$30.00	\$26.60	s	32,771.40	\$36.00	\$24.00	s	34,740.00
70	Special	#8 Stone Filter for Bio Basin Per Item 703	203	CY	\$40.00	s	8.120.00	\$40.00	\$28.50	s	13,905,50	\$36.00	\$24.00	s	12,180.00
69	Special	Type "D" Nonwoven Geotextile, Per CMSC 712.09	5,627	LF	\$2.00	\$	11,254.00	\$1.00	\$1.00	\$	11,254.00	\$2.00	\$2.00	\$	22,508.00
68	Special	Anti-Seep Collar	68	EA	\$100.00	\$	6,800.00	\$35.00	\$165.00	\$	13,600.00	\$150.00	\$100.00	\$	17,000.00

THE BIDDER'S TOTAL ABOVE IS HIS TOTAL BID BASED UPON HIS UNIT PRICES AND LUMP SUM PRICES AND THE ESTIMATED QUANTITIES SHOWN ON THE PLANS. THIS FIGURE IS FOR INFORMATION AT THE TIME OF THE OPENING OF THE BIDS ONLY. THE CITY WILL MAKE THE TABULATION FROM THE UNIT PRICES AND LUMP SUM PRICE BID. IF THERE IS AN ERROR IN THE TOTAL BY THE BIDDER, IT SHALL BE CHANGED AS ONLY THE UNIT PRICES AND LUMP SUM PRICES SHALL GOVERN.

ote: The Apparent low bidder: Facemyer Compan

	\$ 3,000,004.92		\$ 3,332,041.25
Bond Amount	10%	Bond Amount	10%
Bonding Company (Surety 2000)	West Bend Mutual Co.	Bonding Company SurePath)	AssuredPartners of Ohio, LLC dba Dawson Insurance
Proposal Bond Amount Required	\$0.00	Proposal Bond Amount Required	\$333,204.13
Vendor No.	005926	Vendor No.	001064
Non-Collusion Affidavit Completed? Local Vendor? Y/N	Yes No	Non-Collusion Affidavit Completed? Local Vendor? Y/N	Yes No
Addendum Acknowledgement Completed? (Page-4, 5)	Yes	Addendum Acknowledgement Completed? (Page-4, 5)	Yes
Prequalification	Yes	Prequalification	Yes
Proposal Affidavit Completed? (Page P-6)	Yes	Proposal Affidavit Completed? (Page P-6)	Yes

	DANBERT INC.		10	OHN ERAMO & SO	NS	COMPLETE	GENERAL CONSTR	UCTION	ı co.
Unit Pr		Contractor Price (\$)		rice (\$)	Contractor Price (\$)	Unit Pr		_	ractor Price (\$)
Price of Materials	Price of Labor	Total Cost in (\$) Figures	Price of Materials	Price of Labor	Total Cost in (\$) Figures	Price of Materials	Price of Labor	Tota	al Cost in (\$) Figures
\$0.00	\$13.00	\$ 31,811.00	\$0.00	\$3.00	\$ 7,341.00	\$4.00	\$8.00	\$	29,364.00
\$0.00	\$7.00	\$ 5,915.00	\$0.00	\$8.00	\$ 6,760.00	\$2.00	\$6.00	\$	6,760.00
\$0.00	\$650.00	\$ 4,550.00	\$0.00	\$180.00	\$ 1,260.00	\$200.00	\$400.00	\$	4,200.00
\$0.00	\$34.00	\$ 53,278.00	\$0.00	\$15.00	\$ 23,505.00	\$10.00	\$15.00	\$	39,175.00
\$0.00	\$350.00	\$ 2,800.00	\$0.00	\$90.00	\$ 720.00	\$50.00	\$150.00	\$	1,600.00
\$0.50	\$0.50	\$ 5,538.89	\$0.25	\$0.25	\$ 2,769.44	\$0.50	\$0.50	\$	5,538.89
\$1.50 \$50.00	\$1.50 \$300.00	\$ 37,464.00 \$ 9,100.00	\$0.25 \$50.00	\$1.75 \$60.00	\$ 24,976.00 \$ 2,860.00	\$1.25 \$60.00	\$1.25 \$60.00	s	31,220.00 3,120.00
\$0.00	\$7.40	\$ 38,961.00	\$0.00	\$3.50	\$ 18,427.50	\$4.00	\$2.66	s	35,064.90
\$118.00	\$100.00	\$ 13,952.00	\$115.00	\$110.00	\$ 14,400.00	\$200.00	\$80.00	s	17,920.00
\$241.00	\$200.00	\$ 40,572.00	\$125.00	\$200.00	\$ 29,900.00	\$300.00	\$250.00	\$	50,600.00
\$200.00	\$67.00	\$ 96,921.00	\$115.00	\$145.00	\$ 94,380.00	\$200.00	\$100.00	\$	108,900.00
\$0.70	\$2.00	\$ 1,152.90	\$2.00	\$0.75	\$ 1,174.25	\$1.25	\$1.25	\$	1,067.50
\$3.00	\$2.70	\$ 1,065.90	\$8.00	\$15.00	\$ 4,301.00	\$1.25	\$1.25	\$	467.50
\$200.00	\$80.00	\$ 42,224.00	\$115.00	\$145.00	\$ 39,208.00	\$150.00	\$110.00	\$	39,208.00
\$202.00	\$90.00	\$ 65,700.00	\$140.00	\$100.00	\$ 54,000.00	\$155.00	\$115.00	s	60,750.00
\$1,600.00	\$1,600.00	\$ 76,800.00	\$1,500.00	\$2,500.00	\$ 96,000.00	\$3,000.00	\$1,900.00	s	117,600.00
\$1,700.00	\$1,700.00	\$ 23,800.00	\$2,000.00	\$2,300.00	\$ 30,100.00	\$3,000.00	\$1,600.00	\$	32,200.00
\$9.00	\$9.00	\$ 41,436.00	\$8.00	\$12.00	\$ 46,040.00	\$20.00	\$12.00	\$	73,664.00
\$6.00	\$6.00	\$ 2,352.00	\$4.00	\$4.00	\$ 1,568.00	\$4.00	\$3.00	\$	1,372.00
\$23.00	\$20.00	\$ 36,335.00	\$10.00	\$20.00	\$ 25,350.00	\$30.00	\$20.00	\$	42,250.00
\$23.00 \$0.00	\$20.00 \$90,000.00	\$ 18,189.00 \$ 90,000.00	\$10.00 \$0.00	\$20.00 \$30,000.00	\$ 12,690.00 \$ 30,000.00	\$30.00 \$30,000.00	\$20.00 \$30,000.00	s	21,150.00
\$15.00	\$15.00	\$ 9,390.00	\$5.00	\$5.00	\$ 3,130.00	\$8.00	\$9.00	S	5,321.00
\$15.00	\$15.00	\$ 64,020.00	\$1.00	\$1.00	\$ 4,268.00	\$8.00	\$7.00	s	32,010.00
\$25.00	\$25.00	\$ 250.00	\$100.00	\$200.00	\$ 1,500.00	\$22.00	\$50.00	s	360.00
\$150.00	\$150.00	\$ 300.00	\$200.00	\$200.00	\$ 400.00	\$250.00	\$250.00	\$	500.00
\$0.00	\$30,000.00	\$ 30,000.00	\$0.00	\$30,000.00	\$ 30,000.00	\$20,000.00	\$30,000.00	\$	50,000.00
\$0.00	\$60,000.00	\$ 60,000.00	\$0.00	\$80,000.02	\$ 80,000.02	\$50,000.00	\$50,000.00	\$	100,000.00
\$30.00	\$20.00	\$ 2,750.00	\$30.00	\$30.00	\$ 3,300.00	\$20.00	\$15.00	\$	1,925.00
\$1.00 \$450.00	\$1.00 \$100.00	\$ 11,077.78 \$ 550.00	\$1.00 \$200.00	\$1.00 \$300.00	\$ 11,077.78 \$ 500.00	\$1.00 \$400.00	\$2.00 \$125.00	s	16,616.67 525.00
\$200.00	\$1,000.00	\$ 17,952.00	\$50.00	\$500.00	\$ 8,228.00	\$200.00	\$900.53	S	16,463.93
\$50.00	\$50.00	\$ 2,000.00	\$100.00	\$10.00	\$ 2,200.00	\$90.00	\$20.00	s	2,200.00
\$1.50	\$1.50	\$ 1,200.00	\$2.00	\$1.00	\$ 1,200.00	\$1.50	\$0.50	\$	800.00
\$53.00	\$40.00	\$ 6,045.00	\$40.00	\$70.00	\$ 7,150.00	\$80.00	\$45.00	\$	8,125.00
\$60.00	\$40.00	\$ 323,900.00	\$45.00	\$72.00	\$ 378,963.00	\$100.00	\$50.00	\$	485,850.00
\$1,000.00	\$500.00	\$ 10,500.00	\$1,000.00	\$300.00	\$ 9,100.00	\$800.00	\$400.00	\$	8,400.00
\$1,200.00	\$500.00	\$ 3,400.00	\$1,200.00	\$400.00	\$ 3,200.00	\$1,000.00	\$550.00	\$	3,100.00
\$800.00 \$600.00	\$800.00 \$600.00	\$ 33,600.00 \$ 38,400.00	\$750.00 \$500.00	\$1,150.00 \$700.00	\$ 39,900.00 \$ 38,400.00	\$2,000.00 \$1,800.00	\$1,100.00 \$850.00	s	65,100.00 84,800.00
\$700.00	\$1,000.00	\$ 38,400.00 \$ 5,100.00	\$800.00	\$1,150.00	\$ 38,400.00	\$2,400.00	\$1,400.00	s	11,400.00
\$600.00	\$600.00	\$ 3,600.00	\$550.00	\$700.00	\$ 3,750.00	\$2,000.00	\$900.00	\$	8,700.00
\$1,000.00	\$1,000.00	\$ 6,000.00	\$850.00	\$1,150.00	\$ 6,000.00	\$2,200.00	\$1,300.00	\$	10,500.00
\$800.00	\$800.00	\$ 4,800.00	\$600.00	\$700.00	\$ 3,900.00	\$2,000.00	\$900.00	\$	8,700.00
\$2,500.00 \$1,500.00	\$5,000.00 \$1,000.00	\$ 15,000.00 \$ 15,000.00	\$1,000.00 \$1,500.00	\$1,500.00 \$900.00	\$ 5,000.00 \$ 14,400.00	\$5,000.00 \$2,400.00	\$3,500.00 \$1,450.00	s	17,000.00 23,100.00
\$1,500.00	\$1,000.00	\$ 15,000.00	\$1,500.00	\$900.00	\$ 14,400.00	\$2,400.00	\$1,450.00 \$1,450.00	s	3,850.00
\$25.00	\$25.00	\$ 10,000.00	\$25.00	\$60.00	\$ 17,000.00	\$30.00	\$12.00	\$	8,400.00
\$800.00	\$800.00	\$ 12,800.00	\$500.00	\$2,250.00	\$ 22,000.00	\$1,200.00	\$650.00	s	14,800.00
\$600.00	\$600.00	\$ 19,200.00	\$125.00	\$375.00	\$ 8,000.00	\$900.00	\$650.00	s	24,800.00
\$9.00	\$9.00	\$ 2,592.00	\$18.00	\$29.00	\$ 6,768.00	\$40.00	\$20.00	\$	8,640.00
\$30.00	\$25.00	\$ 156,200.00	\$18.00	\$29.00	\$ 133,480.00	\$60.00	\$30.00	\$	255,600.00
\$37.00	\$30.00	\$ 37,319.00	\$15.00	\$105.00	\$ 66,840.00	\$80.00	\$45.00	s	69,625.00
\$60.00 \$65.00	\$60.00 \$65.00	\$ 3,000.00 \$ 2,730.00	\$40.00 \$45.00	\$130.00 \$155.00	\$ 4,250.00 \$ 4,200.00	\$60.00 \$65.00	\$45.00 \$50.00	\$	2,625.00 2,415.00
\$25.00	\$25.00 \$25.00	\$ 10,000.00	\$0.00 \$25.00	\$60.00 \$0.00	\$ 12,000.00	\$20.00	\$20.00 \$20.00	\$	8,000.00
\$25.00 \$1,000.00	\$250.00	\$ 10,000.00 \$ 85,000.00	\$200.00	\$800.00	\$ 5,000.00 \$ 68,000.00	\$30.00 \$250.00	\$100.00	\$	10,000.00 23,800.00
\$0.00 \$2.00	\$40.00 \$2.00	\$ 120,280.00 \$ 8,892.00	\$0.00 \$2.00	\$60.00 \$4.00	\$ 180,420.00 \$ 13,338.00	\$15.00 \$2.00	\$14.00 \$1.00	\$ \$	87,203.00 6,669.00
\$1.40	\$1.40	\$ 113,078.00	\$3.00	\$2.00	\$ 201,925.00	\$3.00	\$0.95	\$	159,520.75
\$3.50 \$3.10	\$3.00 \$1.00	\$ 74,620.00 \$ 688.80	\$2.00 \$3.00	\$4.00 \$3.00	\$ 68,880.00 \$ 1,008.00	\$4.00 \$2.00	\$2.00 \$1.70	\$	68,880.00 621.60
\$1,000.00	\$1,000.00	\$ 136,000.00	\$800.00	\$1,000.00	\$ 122,400.00	\$1,500.00	\$750.00	\$	153,000.00
\$2,400.00 \$3,150.00	\$2,400.00 \$2,000.00	\$ 9,600.00 \$ 350,200.00	\$3,000.00 \$3,000.00	\$7,000.00 \$4,000.00	\$ 20,000.00 \$ 476,000.00	\$10,000.00 \$3,000.00	\$7,500.00 \$2,200.00	S	35,000.00 353,600.00

	\$	\$125.00	\$125.00	\$ 20,400.00	\$200.00	\$100.00	\$ 37,400.00		\$200.00	\$350.00
33,762.0	\$	\$2.00	\$4.00	\$ 16,881.00	\$2.00	\$1.00	\$ 26,728.25	00	\$4.00	\$0.75
14,210.0	\$	\$30.00	\$40.00	\$ 38,570.00	\$150.00	\$40.00	\$ 12,586.00	00	\$30.00	\$32.00
40,530.0	\$	\$30.00	\$40.00	\$ 75,270.00	\$100.00	\$30.00	\$ 37,635.00	00	\$30.00	\$35.00
85,500.0	s	\$50.00	\$100.00	\$ 17,100.00	\$15.00	\$15.00	\$ 139,650.00	.00	\$100.00	\$145.00
,	\$	\$5.60	\$8.00	\$ 23,940.00	\$9.00	\$5.00	\$ 25,855.20	00	\$8.00	\$7.12
11,035.2	\$	\$4.40	\$7.00	\$ 11,616.00	\$8.00	\$4.00	\$ 11,945.12	00	\$6.00	\$6.34
11,434.2	\$	\$4.40	\$7.00	\$ 12,036.00	\$8.00	\$4.00	\$ 12,718.04	00	\$6.00	\$6.68
10,183.4	\$	\$4.80	\$7.00	\$ 10,356.00	\$8.00	\$4.00	\$ 11,305.30	00	\$6.00	\$7.10
11,210.4	\$	\$111.40	\$200.00	\$ 11,700.00	\$175.00	\$150.00	\$ 12,471.84		\$100.00	\$246.44
8,160.0	\$	\$70.00	\$50.00	\$ 5,100.00	\$55.00	\$20.00	\$ 9,944.32	.00	\$100.00	\$46.24
12,500.0	\$	\$8,500.00	\$4,000.00	\$ 4,000.00	\$4,000.00	\$0.00	\$ 1,112.50	2.50	\$1,112.50	\$0.00
10,000.0	\$	\$5,000.00	\$0.00	\$ 10,000.00	\$5,000.00	\$0.00	\$ 10,000.00	0.00	\$5,000.00	\$0.00
97,500.0	\$	\$85,000.00	\$12,500.00	\$ 75,000.00	\$75,000.00	\$0.00	\$ 75,000.00	0.00	\$75,000.00	\$0.00
3,428,018.9	\$	\$0.00	\$685,603.79	\$ 2,995,224.99	599,045.00	\$0.00	\$ 2,994,103.84			
685,603.7	\$			\$ 599,045.00			\$ 598,820.77			
4,113,622.7	\$			\$ 3,594,269.99			\$ 3,592,924.60			
		10%	Bond Amount	10%	nount		10%		Bond Amount	
		AssuredPartners of Ohio, LLC dba Dawson Insurance	Bonding Company (Surety 2000)	Overmyer Hall Associates	(Company th)		Philadelphia Indemnity		Bonding Company (Surety 2000)	
		\$411,362.27	Proposal Bond Amount Required	\$359,427.00	l Bond Amount d		\$359,292.46	l Amount	Proposal Bond Amor Required	
	5	006056	Vendor No.	004251	No.		004618		Vendor No.	
					lusion Affidavit			Affidavit	Non-Collusion Affid	
			Non-Collusion Affidavit							
		Yes	Completed?	Yes	ted?		Yes	V/N	Completed?	
		Yes Yes	Completed? Local Vendor? Y/N	Yes No	ted? endor? Y/N		Yes No	Y/N	Local Vendor? Y/N	
	8		Completed?	No	ted?			nent		
	6	Yes	Completed? Local Vendor? Y/N Addendum Acknowledgement	No Yes	ted? endor? Y/N um ledgement		No	nent Page-4, 5)	Local Vendor? Y/N Addendum Acknowledgement	

	<u> </u>		Ī	
REF.	ITEM		ESTIMATED	
NO.	NO.	DESCRIPTION	QUANTITIES	UNIT
1	202	Pavement Removed	2,447	SY
2	202	Curb & Gutter Removed	845	LF
3	202	Inlet Removed	7	EA
4	202	Waterline Removed	1,567	LF
5	204	Proof Rolling	8	HR
6	207	Construction Seeding and Mulching	5,539	SY
7	207	Perimeter Filter Fabric Fence	12,488	LF
8	207	Inlet Protection	26	EA
9	254	Pavement Planing, 1-1/2" Asphalt Concrete	5,265	SY
10	259	Driveway Pavement Replacement, Type IIIA	64	CY
11	259	Driveway Pavement Replacement, Type IIIB	92	CY
12	301	Asphalt Concrete Base	363	CY
13	407	Tack Coat	427	GAL
14	423	Crack Sealing, Type 1	187	GAL
15	448	Asphalt Concrete Intermediate Course	151	CY
13	770	(Medium Traffic) PG64-22 (Bio Basin)	131	CI
16	448	Asphalt Concrete Surface Course	225	CY
		(Medium Traffic) PG64-22 (Bio Basin)		
17	604	Manhole Type "C" AA-S102	24	EA
18	604	Curb & Gutter Inlet (AA-S125B) with Bike Safe Grates	7	EA
19	605	8" Pipe Underdrain	2,302	LF
20	608	Concrete Walk (4")	196	SF
21	609	Combination Curb & Gutter, Type Standard	845	LF
22	609	Combination Curb & Gutter, Type Standard (Contingency)	423	LF
23	614	Maintaining Traffic	1	LS
24	615	Temporary Pavement (Drive)	313	SY
25	615	Temporary Pavement (Street)	2,134	SY
26	616	Water	5	MGAL
27	616	Calcium Chloride	1	TON
28	623	Construction Layout Stakes	1	LS
29	624	Mobilization	1	LS
30	653	Topsoil Furnished and Placed	55	CY
31	659	Seeding & Mulching, Class 1	5,539	SY
32	659	Commercial Fertilizer	1	TON
33	659	Water	15	MGAL
34	801	Concrete Blocking, Class C, Increase or Decrease	20	CY
35	801	Ductile Iron Fittings, Increase or Decrease	400	LBS
36	801	6" Ductile Iron Pipe and Fittings, Class 52	65	LF

37	801	8" Ductile Iron Pipe and Fittings, Class 52	3,239	LF
38	802	6-Inch Valve and Appurtenances	7	EA
39	802	8-Inch Valve and Appurtenances	2	EA
40	805	3/4-Inch Water Service Tap, Transferred (Long)	21	EA
41	805	3/4-Inch Water Service Tap, Transferred (Short)	32	EA
42	805	1-Inch Water Service Tap, Transferred (Long)	3	EA
43	805	1-Inch Water Service Tap, Transferred (Short)	3	EA
44	805	1-1/2-Inch Water Service Tap, Transferred (Short)	3	EA
45	805	1-1/2-Inch Water Service Tap, Transferred (Short)	3	EA
46	808	Relocate 8" Water Line (Lowering)	2	EA
47	809	Type "A" Fire Hydrant	6	EA
48	809	Type "B" Fire Hydrant	1	EA
49	811	Increase or Decrease in Excavation and Backfill	200	CY
50	816	3/4-inch Water Service Tap Relocated	8	EA
51	816	3/4-inch Water Service Tap Relocated (Lowering)	16	EA
52	901	8" Underdrain, with Type 1 Bedding	144	LF
53	901	8" Solid Connector Pipe, with Type 1 Bedding		LF LF
33	901		2,840	LF
54	901	8" Solid Connector Pipe, with Type 1 Bedding, Installed Via Trenchless Method	557	LF
55	901	12" Storm Sewer Pipe, with Type 1 Bedding	25	LF
56	901	15" Storm Sewer Pipe, with Type 1 Bedding	21	LF
57	902	Increased or Decreased Earth Excavation	200	CY
58	906	Stone Foundation	200	CY
59	915	Clean-Out	68	EA
60	1602	Excavation (for Bio Basins)	3,007	CY
61	1603	Tree Protection Fencing	2,223	LF
62	1604	Bioretention Soil	40,385	CF
63	1604	Edging, PVC/Steel	11,480	LF
64	1604	Bioretention Mulch	168	CF
65	Special	Water Level Control Structure	68	EA
66	Special	Junction Box	2	EA
67	Special	Bio Basin Inlet	68	EA
68	Special	Anti-Seep Collar	68	EA
69	Special	Type "D" Nonwoven Geotextile, Per CMSC 712.09	5,627	LF
70	Special	#8 Stone Filter for Bio Basin Per Item 703	203	CY
71	Special	#57 Stone Filter for Bio Basin Per Item 703	579	CY
72	Special	Planters	570	EA
73	Special	Fountain Grass	1,710	EA
74	Special	Creeping Lily Turf	968	EA
75	Special	Blue Ice Amsonia	1,003	EA
76	Special	Small-Headed Blazing Star	863	EA
77	Special	Stone Mulch	36	CY
78	Special	Sand Bags @ Bio Basin Inlet	68	EA
79	Special	Survey Coordinates	1	LS
80	Spec.	GI Monitoring Station Manhole, Allowance	2	EA
81	_		1	LS
01	551007	OT 1 01104 OF EDMOTIDITEITHIN DOUBOIL 2	1	LD

FROM THE UNIT PRICES AND LUMP SUM PRICE BID. IF THERE IS AN ERROR IN THE T			
	82	Spec.	Force Account (.20 x Sum of Items 1 through 80)
FROM THE UNIT PRICES AND LUMP SUM PRICE BID. IF THERE IS AN ERROR IN THE T			
LINER DRIGES AND LUMP SUM DRIGES SHALL COVERN	01, 11		
UNIT PRICES AND LUMP SUM PRICES SHALL GOVERN.			

Contract Compliance No.:

	UNIT	PRICE IN I	FIGUR	ES	EXTENSION
				TOTAL SUM	
1 1			OF	TOTAL	
				MATERIAL	IN
MATER	IAL	LABO	R	AND LABOR	FIGURES
\$	".00"	\$	".00"	\$	\$
				\$25.00	\$61,175.00
				\$7.00	\$5,915.00
				\$500.00	\$3,500.00
				\$2.00	\$3,134.00
				\$250.00	\$2,000.00
				\$1.50	\$8,308.33
				\$3.00	\$37,464.00
				\$150.00	\$3,900.00
				\$6.00	\$31,590.00
				\$350.00	\$22,400.00
				\$500.00	\$46,000.00
				\$180.00	\$65,340.00
				\$5.00	\$2,135.00
				\$25.00	\$4,675.00
				\$200.00	\$30,160.00
				\$200.00	\$45,000.00
				\$3,500.00	\$84,000.00
				\$400.00	\$2,800.00
				\$10.00	\$23,020.00
				\$10.00	\$1,960.00
				\$50.00	\$42,250.00
				\$50.00	\$21,150.00
				\$25,000.00	\$25,000.00
				\$5.00	\$1,565.00
				\$5.00	\$10,670.00
				\$100.00	\$500.00
				\$250.00	\$250.00
				\$25,000.00	\$25,000.00
				\$40,000.00	\$40,000.00
	1 1			\$40.00	\$2,200.00
	\bot			\$3.00	\$16,616.67
				\$500.00	\$500.00
	1 1			\$100.00	\$1,495.50
	1 1			\$75.00	\$1,500.00
	1 1			\$2.50	\$1,000.00
				\$95.00	\$6,175.00

	\$105.00	\$340,095.00
	\$1,000.00	\$7,000.00
	\$1,500.00	\$3,000.00
	\$1,500.00	\$31,500.00
	\$1,000.00	\$32,000.00
	\$2,000.00	\$6,000.00
	\$1,500.00	\$4,500.00
	\$3,000.00	\$9,000.00
	\$2,000.00	\$6,000.00
	\$5,000.00	\$10,000.00
	\$3,000.00	\$18,000.00
	\$4,500.00	\$4,500.00
	\$60.00	\$12,000.00
	*	•
+	\$1,000.00	\$8,000.00 \$12,800.00
\vdash	\$800.00	· · · · · · · · · · · · · · · · · · ·
\vdash	\$35.00	\$5,040.00
	\$35.00	\$99,400.00
	\$90.00	\$50 130 00
	ΦΩΩ ΩΩ	\$50,130.00
	\$90.00	\$2,250.00
	\$110.00	\$2,310.00
	\$50.00	\$10,000.00
	\$50.00	\$10,000.00
	\$50.00	\$3,400.00
	\$15.00	\$45,105.00
	\$1.50	\$3,334.50
	\$1.50	\$60,577.50
	\$2.00	\$22,960.00
	\$75.00	\$12,600.00
	\$1,500.00	\$102,000.00
	\$5,000.00	\$10,000.00
	\$1,500.00	\$102,000.00
	\$100.00	\$6,800.00
	\$2.00	\$11,254.00
+	\$40.00	\$8,120.00
	\$40.00	\$23,160.00
	\$40.00	\$22,800.00
	\$20.00	\$34,200.00
	\$20.00	\$19,360.00
	\$20.00	\$20,060.00
	\$20.00	\$17,260.00
	\$50.00	\$1,800.00
	\$25.00	\$1,700.00
	\$15,000.00	\$15,000.00
	\$5,000.00	\$10,000.00
	\$40,000.00	\$40,000.00

Sub-Total	\$1,957,365
	\$391,473
TOTAL	\$2,348,837

THE BIDS ONLY. THE CITY WILL MAKE THE TABULATION FAL BY THE BIDDER, IT SHALL BE CHANGED AS ONLY THE